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Energy
Efficiency (%)  =  (useful energy out ÷ total energy in) x 100.

GPE = mgh.      GPE = mass x gravity x height.      
KE  =  ½mv2.     Kinetic Energy = 0·5 x mass x velocity2.
W = F x d.          Work done = Force x distance.   
W = E.               Work done = Energy transferred.
P = E ÷ t.           Power = Energy ÷ time.            

Forces and Motion
s = d ÷ t.    
 speed = distance ÷ time. 
a = (v-u) ÷ t.      acceleration = change in velocity ÷ time.
F = m x a.      
Force = mass x acceleration.
w = m x g.     
weight = mass x gravity.      
d = m ÷ v.     
density = mass ÷ volume.     
m = F x d.   
 moment = Force x perpendicular distance from pivot.
Pressure
p = F ÷ a.      
  pressure = Force ÷ area.    
P=ρhg

pressure=density X height X gravitational strength
P= Po + ρhg     
where Po  is atmospheric pressure
P1V1=P2V2
Initial pressure X initial volume = final pressur X final volume 

Thermal physics

C=∆Q÷∆ T
Heat capacity=heat  required ÷ temperature change
c=∆Q÷m∆ T
Specific heat capacity=heat  required ÷ mass X temperature change
L= m lf
latent heat =mass X specific latent heat of fusion
L= m lv
latent heat =mass X specific latent heat of  vaporization

θ = X θ- X0  ÷ X100-X0

θ =unknown temperature




X θ = quantity at unkown temperature

X0 , X100=quantity at ice and steam points respectively
P1V1 =   P2V2
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Initial pressure X initial volume /initial temperature = final pressure X final volume /final temperature

  T1           T2


          Waves
v = f x l.     
velocity  =  frequency  x  wavelength.
f= 1 ÷ T

frequency =1  ÷  time period
η=sin<i÷sin <r  (less denser to denser)
1/η=sin i÷sin r  
( denser to less denser)
M=V÷U
 
 magnification=image distance÷ object distance




Deformation
L=KE 

load=constant x extension
         Radioactivity
N=No(1/2)t
final nuclei=initial nuclei (1/2) no of half lives
         Electricity
P = V x I  
Power = Voltage x Current.  

P=I2R , 

P = V2 ÷R 
V = I x R.    
Voltage = Current x Resistance.
Q = I x t.     
Charge = Current x time.     

E = V x Q.     
Energy = Voltage x Charge.
R=ρL÷A

 Resistance=Resistivity x length÷area
R=R1+R2
( Effective resistance for Series combination)
1/R=1/R1+1/R2
( Effective resistance for parallel combination)
Total Cost  =  Number of Units x Cost per Unit.

